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1. Find the equation of the tangent line to the curve z2 + 4y + y* = 13 at the point (2,1).
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2. A camera is mounted on the ground 3000 ft. away from the launch pad of a rocket. It stays pointed at
the rocket as the rocket takes off and rises. When the rocket is 4000 ft. above the ground, it is rising at
a rate of 880 ft. per second. How fast is the angle the camera makes with the ground increasing at that
instant? [Start with a picture!] '
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3(a) Find the absolute maximum, and where it occurs, for f(z) =12+ 4z — 22 on the invterval [0, 5].
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(b) Use the Mean Value Theorem (or Rolle’s Theorem) to explain why f(z) = 2z + cosz has at most one
root.
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22

22 +3

(i) What kind of symmetry does f have?

4. Consider the function f(z) =

(ii) What are the critical numbers? On what intervals is f increasing/decreasing?
(iii) On what intervals is the graph of f concave up/concave down?

(iv) Are there any asymptotes?
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(v) Carefully draw the graph of f(z), indicating the features found in parts (i)-(iv).
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5. Find the linearization of f(zx) = z* at z = 2. Then, estimate (1.999)*.
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